R(Num_CD(...), Num_Ent(...),Num_IND(...), Num_IND;(...), Num_IND)(...), Instrument ) { d1....,d4,dml.....dm3}

dm1
RI(Num_CD, Num_IND(...)){d4} R2(Num_CD(...),Num_Enr(...),Num_IND (...), Num_IND;(...), Instrument) { d1,d2,d3,dm2,dm3}
4
K dm2
R3(Num_INDy,nom, prénom,date_nais,date_décés,Nation) {d4 } R5(N CD. Num_Enr, Num_IND ) { }
R4(Num_CD, Num INDy) { } R6(Num_CD(...),Num_IND;(...)Num_Enr(...),Instrument) {d1,d2,d3,dm3 }

dm3

R8 (Num_CD(...),Num_Enr(...)) {d1,d2,d3 }

R7 (Num_CD. Num_IND:. Num_Enr, Instrument ) {}

R10 (Num_CD(...editeur(-)),Num_Enr(...)) {d1,d3 }

R9 ( Editeur, Pays ) { d2 }

d3

R11 (Num_CD, Num_Enr( ...)) {d3 }

RI12(Num_CD(...editeur(-)),Num_ Enr) {dl }

.
R13 (Num_CD(...)) {dl }

R14(Num_ um_Enr) {}




